1.6 Systems of Equations



Consider the system below: (75,2
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Is the ordered pair (3, 2) a solution?



Ways to solve systems
¢ Graphing .~
¢ Algebraically
¢ Substitution -
e Elimination -



Solve the system by Substitution. {x v —
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Solve the sysiem by Substiutiond ] -
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—2x+ 6y =26

Solve the system by Substitution. {_7x +8y=-5
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Solve the system by elemination Eoe 6y — 10 @ _Sxy =10
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Ive th by eleminati @x—3y=D JZX@%::S
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Solve the system by elemination
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3x —4y = -9
5x + 3y =14

Solve the system by elemination {
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x+3y-3z=12 (1,72
3x—y+4z=0
—x+2y—z=1




